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Which of the following is not a plantation crop?

(a) Tea (b) Sugarcane (c) Coffee (d) Rubber
The boundary of a State in India can be altered through:the procedure as laid down in

(a) Article 368 (b) Article 130 (¢) Article 70 (d) Article 3

Six persons A, B, C, D, E and F are standing in a straight line facing North not necessarily in the same
order, B is standing second to the right of D, A is standing fourth to the left of F and F is not standing
on the extreme end of the line. C'is standing second to the right of B. Who is standing second to the
right of A?

(@ E (b)B () F (dcC
Who was the architect of Charminar?

(a) Mohammad Qutub Shah (b) Jamsheed Qutubshah

(c) Mir Momeen Astarabadi (d) Tane Shah

Choose the best synonym for the following: Weird

(a) strange (b) great (c) unhealthy (d) typical
Which district in Telangana has lowest density of population

(a) Adilabad (b) Khammam (c) Mahaboobnagar (d) Nizamabad
The study of the social, psychological, cognitive and biological aspects of aging is called

(a) Gerontology (b) Omithology (c) Etymology (d) Entomology
The Speaker of Assembly submits his resignation to

(a) Chief Minister (b) Governor

(c) Deputy Speaker (d) Judge of High court

The women's double Wimbledon — 2015 was won by
(a) Sharapova and Navratilova

(b) Venus and Serena Williams

(c) Sania Mirza and Hingis

(d) Saina Nehwal and Sania Mirza

The term of office of the Governor of a State is

(a) 2 Years (b) 3 years (c) 4 years (d) 5 years
The producer of the movie "Vimukti Kosam" is

(a) Naradasu Laxmana Rao (b) Nadendla Manohar

(c) Dasari Narayana Rao (d) R. Narayana Murthy
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The 'Accessible India' campaign is associated with

(a) Tourism

(b) Child Education

(c) Empowerment of Gram Panchayats

(d) Persons with Disabilities

Rainfall intensity in Ganga plain decreases from

(a) North to South (b) South to North
(c) East to West (d) West to East

Directions: In the question below is given a statement followed by two assumptions numbered (i) and
(ii). An assumption is something supposed or taken for granted. You have to consider the statement and
the given assumptions and decide which of the assumption(s) is/ are implicit in the statement.

Statement: Inspite of long demand, there is no post office in the colony. The nearest post office is four
kilometers away.

Assumption I: Now a days people do not use postal service.
Assumption II: Residents of the colony wish to have a post office in their locality
(a) Only assumption (I) is implicit

(b) Only assumption (II) is implicit

(c) neither (I) nor (II) is implicit

(d) Both (I) and (II) are implicit

The fuel used is GSLV-DG6 is

(a) Petrol and gas

(b) Ethanol and diesel

(c) Liquid oxygen and petrol

(d) Liquid oxygen and liquid hydrogen propellants

The book 'Indomitable Spirit' is written by

(a) Swamy Vivekananda (b) APJ Abdul Kalam
(c) Baba Ramdev (d) Shivananda

Who was the author of 'Gulamgiri'?

(a) Jobita Phule (b) G.H. Deshmukh
(c) M.G. Ranade (d) Dr. B.r. Ambedkar
The Chairman of Telangana Tourism Development Corporation

(a) Allam Narayana (b) Pervaram Ramulu
(¢) Niranjan Reddy (d) Pidamarthi Ravi
Chenchu Tribe mostly inhabits in the district of

(a) Nalgonda (b) Mahabubnagar
(¢) Khammam (d) Karimnagar
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The founding father of Indian Steel Industry was

(a) Homi J.Bhaba (b) Jamshedji Tata
(¢) Dhirubhai Ambani (d) Anand Goswami
Vetti is

(a) Cheap labour (b) Bonded labour
(c) Daily wage labour (d) Contract labour

Satellite data processing is carried out in India at

(a) NRSC (b) ISRO (c) IIRS (d) SHAR
Choose the correct word from the following.

Wehad a ............. time in Hyderabad

(a) Greatly (b) Grand (c) Gracious (d) Great
Fengyum - IIOB, is a meteorological satellite launched by

(a) Japan (b) China (c) South Korea (d) Russia
The first news paper published in India was

(a) The Calcutta Gazette (b) The Calcutta Chronicle

(c) The Bombay Herald (d) The Bengal Gazette

Fill in the blank with the correct word.

How many ......... study English as a second language?

(a) person (b) people (c) people's (d) person's
VST refers to

(a) Vazir Sultan Tabacco Company

(b) Value added Service Tax

(¢) Videshi Satellite Terminal

(d) Voice Stimulated Test

Cystitis is the infection of which of the following

(a) Liver (b) Urinary bladder (c) Pancreas (d) Lung
Which of the following chemical led to Bhopal Gas Tragedy in 1984

(a) Carbon Monoxide (b) Methyl Isocyanate

(c) Ethyl Isocyanate (d) Cyanohydrine

The leader who participated in the Champaran Satyagraha

(a) Bal Gangadhar Tilak (b) Subhash Chandra Bose
(c) Vallabh Bhai Patel (d) Rajendra Prasad
Which one of the statement is TRUE

(a) India is a permanent member of the United Nations

(b) India is NOT a permanent member of the United Nations

(c) There is no concept of permanent member at the United Nation

(d) The concept of permanent membership was recently abolished
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Which word is used for pens, papers, envelopes etc?

(a) Stationary (b) Stationary (c) Stationary (d) Stationary
Food Security Act, 2013 converts existing food programmes into

(a) Legal entitlements for all

(b) Legal entitlements for economically marginalized sections

(c) Legal entitlements for socially marginalized sections

(d) Legal entitlements for culturally marginalized sections

Railway is a sub sector of

(a) Primary Sector (b) Secondary Sector

(c) Miscellaneous Sector (d) Tertiary Sector

The partition of Bengal was annuled in the year

(a) 1910 (b) 1911 (c) 1912 (d) 1913
Oology is the study of

(a) Sun rays (b) Birds' eggs (c) Flower petals (d) Sea waves
Shooting star is a

(a) Shining object which moves with a constant speed in the atmosphere

(b) comet

(c) Meteroid which catches fire as it enters the earth's atmosphere.

(d) Star which moves with a constant speed

Use the correct punctuation in the following sentence:

When I go to the supermarket, I ....... IT buy tomatoes, potatoes and onions

(a) * (b) ! (©? O

The Laknavaram like is located in the district of

(a) Warangal (b) Khamman (¢) Nizamabad (d) Karimnagar
The 12th Five year plan is prepared by

(a) National Development Council

(b) NITI Ayog

(c) Finance Commission of India

(d) Planning Commission of India

Choose the correct word of the misspelled word: Equipment

(a) Euipiment (b) Equipiment (c) Equipment (d) Equepmet
Choose the correct word of the misspelled word: Embarrassad

(a) Embarassed (b) Embarrassed (c) Embarased (d) Embarresed
The young man committed suicide near parliament house for the cause of Telangana is

(a) Yadaiah (b) Ishant Reddy

(c) Yadi Reddy (d) Yugender Reddy
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The scheme meant for Restoration of Irrigation tanks is called

(a) Jalayagnam (b) Water grid (c) Mission Kakatiya (d) Gramajyothi
The smallest district by size in India is

(a) Diu (b) Yaman (c) Mahe (d) Central Delhi
Kyoto Protocal is related to

(a) Climate change (b) Animal slaughtering

(c) Drugs abuse (d) Human trafficking

The author of the first novel from Telangana, entitled "Prajala Manishi"?

(a) Vasireddy Bhaskar Rao

(b) Sunkara Sataynarayana

(c) Kaloji

(d) Vattikota Alwarswamy

The historic accord reached by the United States presently for resuming diplomatic ties with
(a) Afghanistan (b) Syna (c) Iraq (d) Cuba
Kaloji Narayana Rao's‘Centenary year is

(a) 2012 (b) 2013 (c) 2014 (d) 2015
Telangana state flower is

(a) Thangedu (b) Gulabi (c) Chemanthi (d) Gunugu
The recent meeting of World Economic Forum is held in which city of China

(a) Shanghai (b) Beijing (c) Dalien (d) Hongzhou

Directions: In making decision about important questions, it is desirable to be able to distinguish
between 'strong' and 'weak' arguments so far as they are related to the question. 'Strong' arguments must
be both important and directly related to the question. 'Weak' arguments may not be directly related to
the question and may be of minor Importance or may be related to the trivial aspects of the question.

The question below is followed by two arguments numbered (I) and (II). You have to decide which of
the arguments is strong and which is weak.

Should government encourage every household to have compost pits?
Argument I: No, Why should people have compost pits?

Argument II: Yes, it is the duty of every citizen to keep the city clean. composting helps speedy and
effective disposal of waste and lessens the burden on maintaining the dumping yards.

(a) Only argument (L) is strong

(b) Only argument (II) is strong

(c) Neither argument (I) nor (II) is strong

(d) Both argument (I) and argument (I) are strong

The table wear is known as

(a) crakery (b) crockery (c) craken (d) crokary
Which of the following tanks was not constructed by the Kakatiyas?

(a) Bayyaram (b) Ghanpur (c) Pakhala (d) Dindi
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A judge of the Supreme Court may be removed on the ground of
(a) Bad judgement

(b) Supporting a public cause

(c) Proved misbehaviour or in capacity

(d) On the pleasure of the President

If a clock is called 'television', television' is called 'radio', 'radio' is called 'oven', 'oven' is called
'grinder’, and 'grinder’ is called 'iron’. Then what will be sued to make chutney?

(a) Radio (b) Grinder (c) Oven (d) Iron
Telangana traditional food Gatuka is made with

(a) Maize (b) Wheat (c) Rice (d) Sugar
Identify the incorrect statement with reference to RTI Act

(a) Promote transparency and accountability

(b) Contain corruption

(c) Ensure good governance

(d) Elicit information from the people

Who hoisted the Congress Flag on the Residency Building in Hyderabad

(a) Kaloji narayana Rao

(b) Burgula Ramakrishna Rao

(c) M:Narsing Rao

(d) Padmaja Naidu

What was the verdict of the Supreme Court that engulfed the Telangana Movement in 20097
(a) Declaration of Hyderabad as free zone for police recruitment

(b) Declaration of Mulki rules as null and void

(c) G.0O. 610 was struck down

(d) Presidential Order was struck down

The flower prominently used in Bathukamma

(a) Ganugu (b) Ganuga (c) Senaga (d) Gulabi
Choose the correct response: It is hot or cold in May?

(a) In may is hot

(b) It is quite not hot'in May

(c) It makes very hot-in May

(d) It is hot in May

In the Western side, Telangana State shares the border with

(a) 3 states (b) 4 states (c) 5 states (d) 2 states
Who among the following was not associated with the Kakori Conspiracy case?

(a) Ram Prasad Bismill (b) Chandra Shekhar Azad

(c) Ashfaqulla Khan (d) Surya Sen
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Insert the missing number in -4, 8, —16, 32, —64?
(a) —128 (b) -96 (c) 128 (d) 96

Directions: In the question below is given a statement followed by two courses of action numbered I
and II. A course of action is a step of administrative decision to be taken for improvement, follow up
or further action in regard to the problem, policy, etc. On the basis of the information given in the
statement, you have to assume everything in the statement to be true, and then decide which of the
suggested courses of action logically follow (s) for pursuing.

Statement: After consuming food, many students of a reputed college hostel fell sick.. It is identified
that the food was contaminated.

Course of Action I: The canteen should be closed with immediate effect.

Course of Action II: The Principal and other authorities should be suspended immediately.
(a) Only Course of Action (I) is suggested.

(b) Only Course of Action (II) is suggested.

(c) Neither Course of Action (I) nor Course of Action (II) is suggested

(d) Both Course of Action (I) and Course of Action (II) are suggested

Who was the first President of the Nizam Rashtra Jana Sangham?

(a) K.V. Ranga Reddy (b) M. Hanumantha Rao
(c) A.Veerabhadra Rao (d) Pratapa Reddy

The architect of 'Rampa Rebellion' was

(a) Bhagya Reddy Verma (b) Mallu Dora

(c) Alluri Seeta Rama Raju (d) Veeraiah Dora

P, Q, R are sisters, M is sister of N and N is son of R. How is P related to M?
(a) sister (b) aunt (c) cousin (d) niece

Amaravati river is tributary of

(a) krishna (b) Godavari (c) Tungabhadra (d) Kaveri
Pro-Kabaddi League was formed in

(a) 2012 (b) 2013 (c) 2014 (d) 2015
During Telangana movement, JAC organized 'Sagar Haram' at

(a) Nizam Sagar (b) Himayat Sagar

(c) Hussain Sagar (d) Osman Sagar

Icchampully is located in the district of

(a) Karimnagar (b) Warangal
(c) Adilabad (d) Medak
Which word denotes the place of living

(a) acomodation (b) accredition
(c) accomodation (d) abbreviation

Which is the longest bone in the human body?
(a) Femur (b) Humer (c) Spinal Cord (d) Calf bone
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Famous song 'Nageti Challalla naa Telangana' is written by

(a) Goreti Venkanna (b) Gaddar

(c) Nandini Sidha Reddy (d) Deshapathi Srinivas

Which one of the following is an Indian Satellite Sensor?

(a) HRV (b) MSS (c) LISS-II (d) ™
'Dasi' is a

(a) Story by Allam Rajaiah

(b) Filmy by B.Narsinga Rao

(c) painting by Vaikuntam

(d) Play directed by Suddala Hanumanthu

Which State Government is the winner of Skoch Order-of-Merit National Award for implementing
e-Governance and IT initiatives recently

(a) Telangana (b) Goa

(c) Andhra Pradesh (d) Haryana
The Founder Editor of Golakonda Pathrika

(a) Adivi Bapiraju

(b) Krishna Swamy Mudiraj

(c) Raja Rameshwar Rao

(d) Suravaram Prathapa Reddy

Arrange the following words as per the dictionary arrangement

(1) Endeavour (2) Endorse (3) Endure (4) Endless

(5) Endemic

(a)1,5,4,2,3 (b)1,5,2,4,3 (©)5,1,4,2,3, (d1,5,2,3,4
Siwalik Mountains are also known as

(a) Lesser Himalayas (b) Greater Himalayas

(c) Outer Himalayas (d) Inner Himalayas

Directions: Given below is a pair of events (I) and (II). You have to read both the events (I) and (II)
and decide their nature of relationship

Event I: The number of visitors to the zoo has been continuously decreasing year after year.

Event II: The zoo is not well maintained and the animals are becoming sick because of unhygienic
conditions.

(a) (I) is the effect and (II) is its immediate and principal cause
(b) (1) is the immediate and principal cause and (I) is its effect
(c) (I) is an effect but (II) is not immediate and principal cause

(d) (D) is an effect but (I) is not its immediate and principal cause
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When was the 'Haritaharam' launched

(a) July 2, 2015 (b) July 3, 2015
(c) July 4, 2015 (d) July 5, 2015
The first elected Chief Minister of Hyderabad State was

(a) Burgula Ramakrishna Rao

(b) K.V. Ranga Rao

(c) A. Kaleshwara Rao

(d) N.Sanjeeva Reddy

Ali Sagar lift irrigation project is in the district of

(a) Medak (b) Nalgonda (c) Nizamabad (d) Hyderabad
The poems praising the Russian Revolution of 1917 were written by

(a) Sarojini Naidu (b) Rabindranath Tagore

(c) Mohammed Igbal (d) Subramanya Bharati

The right to property under the Indian Constitution is

(a) A legal right (b) A fundamental right

(c) Natural right (d) A directive principle

Choose the best.synonym for the following: Disgusting

(a) tasty (b) Aversion (c) Good (d) Flavourful
The gas used in the manufacture of Vanaspathi from vegetable oil is

(a) Hydrogen (b) Oxygen (c) Nitrogen (d) Carbondioxide
The programme launched by the Telangana Government to assist Dalit Entrepreneurs is called
(a) TASK (b) TS-iPASS (c) T-PRIDE (d) T-Hub
Who headed the Law Commission appointed by Lord William Bentinck?

(a) Lord macaulay (b) W.W. Hunter (¢) Charles Wood (d) Lord Minto
The law relating to sexual harrassment was laid down-in

(a) Vishakha vs State of Rajasthan

(b) Anuj Garg Vs Union of India

(c) Keshavananda Bharati vs Union of India

(d) Shreya Singhal vs Union. of India

'Current fallow land' means

(a) Landnot cultivated in current year

(b) Land not cultivated for the past two years

(¢) Land cultivated in current year

(d) Land not cultivated for more than two years

What is the primary requisite of a good computer programmer?

(a) Mathematical mind (b) Logical mind

(c) Artistic mind (d) Scientific mind
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Pranahita river flows in the district of

(a) Adilabad (b) Ranga Reddy

(c) Mahaboobnagar (d) Medak

Kadem reservoir is situated in the district of

(a) Adilabad (b) Karimnagar (c) Nalgonda (d) Krishna

The scheme introduced by the Telangana Government to extend financial support to poor Muslim
brides is

(a) Shadi Mubarak (b) Nikha Mubarak
(c) Eid Mubarak (d) Beti Bachao
Meezan was a

(a) Urdu feature film

(b) News Paper from Hyderabad

(c) Historical Monument of 18th ¢entury in Telangana

(d) Irrigation project of Kakatiya period

The sunshine vitamin is

(a) Vitamin D (b) Vitamin B,
(¢) Vitamin C (d) Vitamin A

Who among the following has provided his personal residence to TRS Office when the party was
formed in 2001

(a) Dr. Mallikarjun

(b) Dr. M.Chenna Reddy

(c) Konda Lakshman Bapuji

(d) Sridhar Reddy

NSKFDC Stands for

(a) Natural Sources Krishi Finance and Development Corporation

(b) National Safai Karamchari Finance and Development Corporation
(c) Nominal Savings Kinship Family and Direction Committee

(d) National Safai Kinship Finance and Division Committee

Fill in the blanks with the cotrect word:

Five .......... started ‘a computer services company

(a) Woman (b) Woomen (c) Women (d) Woman's
The author of the book "India Today" was

(a) A.O. Hume (b) R.P. Dutt

(c) William Wedderbum (d) Bipan Chandra
Digital India Initiative was launched by

(a) Government of India (b) TCS

(c) Facebook (d) Microsoft

www.eenadupratibha.net



www.eenadupratibha.net

106. Minimum Support Price (MSP for food crops is fixed by
(a) Ministry of Agriculture, Government of India
(b) Government of State
(c) Commission for Agriculture costs and prices
(d) Food and Agriculture organisation
107. Name the active women leader of the Telangana Praja Samiti
(a) Sangem Laxmi Bai (b) Sada laxmi
(c) Mallu Swarajyam (d) Eswari Bai
108. Peninsular India comprises of
(a) Archean rocks (b) Tertiary rocks
(c) Pleistocene rocks (d) Recent deposits

109. The one man commission constituted to examine the implementation of Presidential Order on Public
Services 1975 and G.0O.Ms. No. 610-is

(a) Lalit Bhargav (b) Wanchoo

(c) Girglani (d) Amrik Singh
110. The author of the Wealth of Nations is

(a) Amartya Sen (b) Adam Smith

(c) Karl Marx (d) Jayati Ghosh

111. “Dengue is transmitted by a mosquito called

(a) Aedes (b) Anopheles (c) Culex (d) Rolex
112. What is the name of NASA's most famous Space Telescope

(a) Bubble (b) Double (c) Rubble (d) Hubble
113. PSLV-CI14 in its latest space quest had carried Oceasat-2 with how many mano satellites

(a) FIVE (b) SIX (c) SEVEN (d) NINE
114. '"Kinnerasani" is a

(a) noel by Chalam

(b) film by Dasari Narayana Rao

(c) river in Khammam District

(d) historical tank in Warangal District

115. Which Article of the Indian Constitution provides for the welfare of the disabled persons

(a) 41 (b) 42 (c) 44 (d) 51
116. What kind of natural hazards are not normally insurable?

(a) Earthquakes (b) Explosion of volcanoes

(c) Land slides (d) Floods
117. "Mixed Economy" policy was adopted by

(a) Amartya Sen (b) Dr. B.R. Ambedkar

(c) Jawaharlal Nehru (d) Mahatma Gandhi
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(a) General Sales Tax

(b) Goods and Services Tax

118. GST refers to

(c) General Service Tax
(d) Gross Service Tax
119. Choose the correct response.
Do you brush your teeth after every meal?
(a) Yes I do
(b) I always brushing my teeth
(c) Yes, I brush the tooth after every meal
(d) I twice brush my teeth
120. Choose the correct word from the following.
This flower is .......... than that one.
(a) More beautiful (b) Most beautiful
(c) Beautifully (d) Beauty
121. Who among the following advocated party less democracy in India
(a) M.N. Roy
(b) Acharya Vinoba Bhave
(c) Jawaharlal Nehru
(d) Jayaprakash Narayan
122. Nagarjuna Sagar Left canal is called

(a) Jawahar Canal (b) Mahaboob canal
(c) K.L. Rao canal (d) Lal Bahadur Canal
123. The Government of India declared one of the following as Marine park to conserve coral reefs
(a) Gulf of Kutch (b) Lakshadweep islands
(¢) Gulf of Mannar (d) Andaman Islands

124. The literacy rate in Telangana state as per 2011 Census is

(a) 72.9% (b) 66.5% (©) 73% (d) 65.5%
125. The instrument that measures Arterial Pressure is known as

(a) Pykno meter

(b) Hypso meter

(c) Sphygmoscoped

(d) Sphygmomanometer
126. The writer of famous song "Podustunna Poddu meeda Nadustunna Kaalama"

(a) Gadar (b) Guda Anjayya

(c) Goreti Venkanna (d) Andesri
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127. The native village of Former Indian Prime Minister P.V. Narasimha Rao is

(a) Manthani (b) Dhannapuri

(c) Brahmana Palli (d) Vangera
128. India's first Super computer is

(a) Aditya (b) pram Yuva (c) Param (d) Vikram—100
129. The Sarada Act was passed in the year

(a) 1929 (b) 1919 (c) 1939 (d) 1949
130. The concept of SAARC Satellite was proposed by

(a) Bangladesh (b) India (c) Pakistan (d) Srilanka
131. Education in India, is in

(a) State list (b) Union list

(c) Concurrent list (d) Residuary list

132. Rangam - a future telling ceremony is associated with

(a) Secunderabad Bonalu (b) Bathukamma

(c) Kolatam (d) Dasara Procession
133. NITI Aayog replaces

(a) Inter=State council

(b) Reserve Bank of India

(c) Planning Commission

(d) UGC
134. "Gouda or Goundla' Community in Telangana is associated with which traditional activity?
(a) Construction (b) Toddy tapping
(c) Fishing (d) Weaving
135. Use the correct punctuation in the following sentence:
Oh God ......... I've lost my wallet
(a)? (b) ! ©: (d)'
136. Kurumoorthy Jathara is famous in-the district of
(a) Nalgonda (b) Nizamabad
(c) Mahaboobnagar (d) Hyderabad
137. In which placeIron Ore deposits are found recently in Telangana?
(a) Bayyaram (b) Jannaram
(c) Gannavaram (d) Mailaram

138. - Migration does not cause
(a) Changes in sex-ratio
(b) Population decrease/increase

(c) Population density increase/decrease

(d) Earthquakes
www.eenadupratibha.net
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(a) Name of the new star discovered by Indian space scientists

Adani is

(b) Indian mining company
(c) A place in Gujarat where Sardar Patel's longest statue is coming up
(d) Name of the new species of fish discovered recently off the coast of Gujarat

In the question below is given a statement, followed by two conclusions numbered (I) and (II) . You
have to assume everything in the statement to be true, and then decide which of the two given
conclusions logically follow (S) beyond reasonable doubt, from the information given in the
statement.

Statement: Suddenly, the onion price has scared to Rs. 100 per kg in Delhi.
Conclusion I: Inadequate supply of onions has led to-shooting up of price.
Conclusion II: The onion price in Hyderabad is less than that of in Delhi.
(a) Only conclusion (I) follows

(b) Only conclusion (IT) follows

(c) Neither (I) nor (II) follows

(d) Both (I) and (IT) follows.

Al Jazeera is a

(a) Television Channel

(b) Name of Arab Satellite

(¢) Saudi Arabia's Ambassador to India

(d) A Scheme launched for empowerment of Muslims in Telangana.
Which one of the following is considered as the bulwark of the personal liberty.
(a) Mandamus (b) Habeus Corpus

(c) Quo Warranto (d) Certioran

The present Deputy Chairman of Rajya Sabha is

(a) Prof. Nambiar (b) Hamed Ansari

(c) Nazma Heptullah (d) Prof. PJ. Kurian.
Jan—Dhan Yojana is aimed at

(a) Improving the productivity of the rural poor

(b) Developing rural infrastructure

(c) Political empowerment of women

(d) Financial inclusion

Sarf-e-Khas means

(a) Agranan Lands

(b) Assigned Lands

(c) Forest Lands

(d) Crown Lands
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146. Directions: Study the following table carefully and answer the questions.

147.

148.

Students appeared and passed in an exam from four different colleges in five different years.

A: Appeared, P : Passed

A B C D
YEAR | A P A P A P A P
2011 | 650 | 420 [ 780 | 560 [ 670 | 460 | 560 | 440
2012 | 790 | 530 | 840 | 720 | 830 | 740 | 620 | 520
2013 | 580 | 380 | 680 | 430 [ 480 | 390 | 730 | 620
2014 | 380 | 260 [ 760 | 520 | 430 | 215 | 850 | 730
2015 | 850 | 650 [ 930 | 770 | 770 | 520 | 920 | 690

What is the total no. of students appeared from college A in 2012, 2013 and 2014 together?

(a) 1170

(b) 1290 (c) 2020 (d) 1750

Directions: Study the following table carefully and answer the questions.

Students appeared and passed in an exam from four different colleges in five different years.

A: Appeared, P : Passed

A B C D
YEAR| A P AP A P|A|P
2011 | 650 | 420 [ 780 | 560 [ 670 | 460 | 560 | 440
2012 | 790 | 530 | 840 | 720 | 830 | 740 [ 620 | 520
2013 | 580 | 380 | 680 | 430 [ 480 | 390 [ 730 | 620
2014 | 380 | 260 | 760 | 520 [ 430 | 215 [ 850 | 730
2015 | 850 | 650 | 930 | 770 | 770 | 520 [ 920 | 690

What is the different between total no. of candidates appeared and passed from college B in the given

period?

(a) 980

(b) 990 (c) 1000 (d) 970

Directions: Study the following table carefully and answer the questions.

Students appeared and passed-in an exam from four different colleges in five different years.

A: Appeared, P : Passed

A B C D
YEAR | A P AP A P|A|P
2011 | 650 | 420 [ 780 | 560 [ 670 | 460 | 560 | 440
2012 | 790 | 530 | 840 | 720 | 830 | 740 [ 620 | 520
2013 | 580 | 380 | 680 | 430 [ 480 | 390 [ 730 | 620
2014 | 380 | 260 | 760 | 520 [ 430 | 215 [ 850 | 730
2015 | 850 | 650 | 930 | 770 | 770 | 520 [ 920 | 690
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What is the pass percentage from college C in 20147

(a) 60 (b) 75 (c) 40 (d) None of these
Directions: Study the following table carefully and answer the questions.

Students appeared and passed in an exam from four different colleges in five different years.

A : Appeared, P : Passed

A B C D
YEAR | A P A P A P A P
2011 | 650 | 420 [ 780 | 560 [ 670 | 460 | 560 | 440
2012 | 790 | 530 | 840 | 720 | 830 | 740 | 620 | 520
2013 | 580 | 380 | 680 | 430 [ 480 | 390 | 730-| 620
2014 | 380 | 260 | 760 | 520 | 430 | 215+| 850730
2015 | 850 | 650 [ 930 | 770 | 770 | 520 |-920 | 690

In which college the no. of students appeared is consistently increasing in the given period?
(a) A (b)B (©C (dD
Directions: Study the following table carefully and answer the questions.

Students appeared and passed in an exam from four different colleges in five different years.

A : Appeared, P.: Passed

A B C D
YEAR | A P A P A P A |
2011 | 650 | 420 [ 780 | 560 [ 670 | 460 | 560 | 440
2012 | 790 | 530 | 840 | 720 [ 830 | 740 [ 620 | 520
2013 | 580 [ 380 [ 680 | 430 [ 480 [ 390 | 730 | 620
2014 | 380 [ 260 [ 760 | 520 [ 430 [ 215 [ 850 | 730
2015 | 850 [ 650 930 | 770 | 770 [ 520 | 920| 690

What is the total no. of candidates passed in the year 2013 from all the colleges together?

(a) 2470 (b) 1725 (c) 1820 (d) 2250
Name the first state to introduce Lokayukta

(a) Maharashtra (b) Odisha

(c) Rajasthan (d) Andhra Pradesh

Which of the following Organization gave call to sakala Janula Samme?
(a) Telangana Rashtra Samithi

(b) Madiga Dangora

(¢) Telangana Political Joint Action committee

(d) Congress Party

Through how many districts of Telangana the river Godavari flows

(a) Two (b) Three (C) Four (d) Five
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154. When was the Hyderabad State Branch of Arya Samaj was found?

(a) 1892 (b) 1905 (c) 1920 (d) 1925
155. According to 2011 Census, female literacy rate in Telangana is lowest in the district

(a) Adilabad (b) Nizamabad (c) Medak (d) Mahaboobnagar
156. My parents encouraged me to ..... this course

(a) do (b) did (c) doing (d) done
157. A device that converts Digital signals to Analog signals is a

(a) Packet (b) modem (c) Block (d) Chip
158. The first women to become the President of the United Nations General Assembly

(a) Vijaya laxmi Pandit (b) Indira Gandhi

(c) Laxmi Sehagal (d) Sarojini Naidu
159. Which policy was adopted by Wellesley for the expansion of the British Power in India?

(a) Subsidiary Alliance (b) Doctrine of Lapse

(c) Free Trade Policy (d) Filtration Theory

160. The best food source of vitamin 'D' is

(a) Beal (b) Solmon

(c) Carrots (d) Skinless chicken
161. The Song 'Garadi Jesutundru' in Jai Bolo Telangana Movie is written by

(a) Goreti Venkanna (b) K.C.R.

(c) K.T.R. (d) Deshapati Srinivas
162. The Patidari Agitation in Gujarat is on the following issue

(a) Land Acquisition (b) Reservation

(¢) Prohibition (d) Political Empowerment

163. Indus Gorge is an example of

(a) Linear Valley (b)'Antecedent Valley

(c) Truncated Valley (d) Depositional Valley
164. The Winner of Pro-Kabaddi League in 2015 is

(a) Bengaluru Bulls (b) U Mumbai

(c) Telugu Titans (d) Dabang Delhi
165. APJ Abdul Kalam served as President of India during

(a) 19921997 (b) 2002-2007 (c) 1987-1992 (d) 1997-2002
166. India has recently entered into a border accord with

(a) Pakistan (b) China (c) Bhutan (d) Bangladesh
167. The following Country is not a member of BRICS

(a) Brazil (b) South Africa

(c) Indonesia (d) China
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Oldage Pension Scheme of Telangana Government

(a) Barosa (b) Aasara (c) Sahaya (d) Punaravasa
Name of the Constable Shot himself for the cause of Telangana State

(a) Kistaiah (b) Krishnaiah

(c) Krishnamachari (d) Srikanthachari

Pranahita is a

(a) River (b) Medical Scheme (c) Lake (d) Flower

The upper limit of the Crop Loan Waiver Scheme 2014-15 implemented by the Telangana Government
is

(a) Rs. 1,00,000 (b) Rs. 1,50,000 (c) Rs. 50,000 (d) Rs. 75,000

In the question below is given a statement, followed by two conclusions numbered (I) and (II). You
have to assume everything in the statement to be true, and then decide which of the two given
conclusions logically follow(s) beyond reasonable doubt, from the information given in the statement

Statement: The researchers found that excessive internet use draws resources away from mental
functions that are essential for.completing simple day-to-day tasks.

Conclusion I: One must avoid excessive use of internet

Conclusion II: A clear link exists between levels of engagement with internet and daily lapses in
attention

(a) Only:conclusion (I) follows

(b) Only conclusion (II) follows

(¢) Neither (I) nor (II) follows

(d) Both (I) and (II) follows

Viticulture is related to

(a) Grape vines (b) Honey making
(c) Rubber making (d) Sugarcane Pulp
Former Prime Minister Sri P.V.Narasimha Rao's auto-biography is published in Telugu as
(a) Lopali Manishi

(b) Velupali Manishi

(c) Manchi Manishi

(d) Manishilo Manishi

Who is the father of "Indian Monsoon Model"?

(a) Madhavan Nair (b) Vikram Sarabhai
(c) Vasanta Gowarikar (d) C.R. Rao

The concept of Public—Private Partnership (PPP) is meant

(a) To promote participation of private people for public causes

(b) Contract between two private parties for public cause

(c) Contract between Public and Private Party for private cause

(d) Non-involvement of people in public projects
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(a) Indian Moon Mission

(b) India's Mas Mission

Mangalayan is

(c) India's proposed mission to Jupiter

(d) Name of the recently launched GSLV rocket

An example of Allied Agriculture sector is

(a) Diary and Poultry

(b) Mining

(c) Gal and Water Supply Sector

(d) Banking and Insurance Sector

What was the official radio of the Nizam State?

(a) Decent Radio (b) All Hyderabad Radio
(c) Nizam Radio (d) Golkonda Radio
River Krishna acts as a boundary between the states of

(a) Telangana and Maharashtra

(b) Telangana and Odisha

(c) Telangana and Chattisgarh

(d) Telangana and Andhra Pradesh

T — Hub means

(a) A tech incubator to assist startup companies by Telangana Government
(b) A cluster of tourism places in Telangana identified by Government of India
(c) A chain of Irani Tea Stalls in Hyderabad

(d) A popular cable T.V. network in Telangana

Bandhan is a

(a) Radio Station (b) Mountain Peak

(c) Bank (d) Hill Station

The difference between land of pooling and land acquisition is

(a) Land pooling is voluntary and acquisition is involuntary

(b) Land pooling is involuntary and Land acquisition is voluntary

(c) Land pooling and Land Acquisition are voluntary

(d) Landpooling and Land Acquisition are involuntary

I have decided to apply ........ that job which was advertised yesterday

(a) about (b) for (c) in (d) under
The author of recently published book 'Uniki' is

(a) Ch.Vidyasagar Rao (b) K.Keshava Rao

(¢) Juloori Gousishankar (d) Deshapati Srinivas
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Sorrow of Bihar is

(a) Kosi (b) Ramganga (c) Gandak (d) Son
European union at present consists of

(a) 27 Countries (b) 28 Countries

(¢) 30 Countries (d) 29 Countries

Kaziranga National Park is located in the state of

(a) West Bengal (b) Arunachal Pradesh

(c) Assam (d) Jammu and Kashmir

The Constitution names our country as

(a) India that is Bharat

(b) India that is Aryavarta

(c) India that is Hindustan

(d) India that is Bharat Varsha

Which one of the following set—up provisional Government in Kabul?
(a) Raja Karan Singh and Uddham Singh

(b) Raja Hari Singh and Sachin Sanyal

(c) Raja Kumar Singh and Rash Bihari Bose

(d) Raja Mahendra Pratap and Barkatullah

Who among the following supervised the construction of Hussain Sagar Tank in Hyderabad

(a) Akkanna Madanna (b) Taneshah

(c) Syed Hussain (d) Hussain Sha Wali
Which of the following is not a component of MS Office?

(a) MS Word (B) MS Excel

(c) MS Power Point (d) MS Media Player
The first meeting of the Indian National Congress was held in Bombay in 1885 under the Presidentship
(a) Dadabhai Naoroji (b) A.O. Hume

(c) W.C. Banerjee (d) Baruddin Tyabji
Which of the following does not contain silver

(a) Horn Silver (b) German silver

(c) Ruby Silver (d) Lunar caustic

If in a code language DENTALLY is written as BFMKSQQH and PARENT is written as CSGFMK,
then PENALTY is written as

(a) CENSQKY (b) CFMSQKH

(c) CMFSQKH (d) CFSMKQH

In the Secunderabad Bonalu, the cooked food is offered to

(a) Kali of Kolkata (b) Mahankali of Ujjaini
(c) Renuka Yellamma (d) Peddamma
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The Chief Minister who stated that the Water Grid programme is need to be implemented through the

country.
(a) Niteesh Kumar

(c) Jaya Lalitha

(b) Akhilesh Yadav
(d) Biju Patnaik

Which of the following sequences of waves occur in an earthquake?

(a) 'P' waves, 'S' waves, surface waves
(b) Surface waves, 'P' waves, 'S' waves
(c) 'P' waves, surface waves, 'S' waves
(d) 'S' waves, 'P' waves, surface waves.
FII denotes

(a) Foreign Industrial Investment

(b) Foreign Institutional Investor

(c) Food Institute of India

(d) Foreign Investors in India
Theosophical Society was established in India at
(a) Rama Krishnapuram in Delhi

(c) Adayar in Madras

The village, Phanigiri is famous for

(a) Shiva temple

(b) Chowrangi lane in Calcutta

(d) Dadar in Bombay

(b) Sri Rama Temple

(c) Buddist Monument (d) Jain Temple

Ali Sagar in Nizamabad district was named after

(a) Ali Yaver Jung (b) Ali Nawaz Jung

(c) Ali Nur Jung (d) Mohammad Ali Mirza
The data shows that the .............. of people accessing internet has increased

(a) numbers

Article 14 deals with

(b) number

(a) The Right to Equality

(c) The Right to Liberty

Bundelkhand comprises districts from

(a) Uttar Pradesh and Madhya Pradesh

(b) Uttar Pradesh and Rajasthan

(c) Madhya Pradesh and Gujarat

(d) Uttar Pradesh and Bihar

Leading iron ore producing areas in India are
(a) Ranchi, Palamau

(c) Singhbhum, Mayurbunj
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(b) The Right to Property
(d) The Right to life

(b) Khetri, Singahana
(d) Hazaribhag, Dhanbad
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Who was the first Mayor of Hyderabad Municipal Corporation after the formation of Andhra Pradesh?

(a) Krishna Swamy Mudiraj (b) Konda Laxman Bapuji
(c) Madapati Hanumantha Rao (d) Myadam Anjaiah
Balasanthula is a

(a) Dance form (b) Caste group

(c) Child artists in Telangana (d) River in Adilabad

In which city the first Green field Airport of the Country was constructed under Public Private
Partnership

(a) Mumbai (b) New Delhi (c) Hyderabad (d) Chennai
Who founded the Aligarh Movement?

(a) Moulana Hussaian (b) Mohammed Ali

(c) Hakim Ajmal Khan (d) Sayyed Ahmed Khan.

Bellampalli is known for

(a) Sugar Industry (b) Paper Industry

(c) Iron ore (d) Coal Mines

Gas hydrates found in deep sea are

(a) methane molecules trapped in ice

(b) Butane molecules trapped in water

(c) Ethane molecules trapped in ice

(d) Propane molecules trapped in water

The ........... in the report were presented in a clear way

(a) ideas (b) idea (c) ideals (d) ideate
In the context of the environment, the term 'dirty dozen' refers to

(a) 12 most harmful green house gases

(b) 12 ozone depleting substances

(c) 12 persistent organic pollutants

(d) 12 countries spoiling oceans

The Committee that recommended the introduction of Panchayatraj in India

(a) Balwantrai Mehta Committee (b) Ashok Mehta Committee
(c) Santanam Committee (d) P.V.Rao Committee
Koilsagar Irrigation Projects is in

(a) Nalgonda District (b) Medak District

(¢) Khammam District (d) Mahaboobnagar District
The President of India may consult the Supreme Court under

(a) Article 141 (b) Article 142

(c) Article 144 (d) Article 143
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218. On which river Kanthanapalli Project is proposed to be built

(a) Krishna (b) Manjeera (c) Shabari (d) Godavari
219. Our neighbours have ............. parrot as their pet

(a) an (b) the (c)a (d) are
220. Deciduousness is the characteristic of

(a) Monsoon Forest (b) Equatorial forest

(c) Temperate Forest (d) Taiga forest

221. In Telangana the Organisation TSTS is related to
(a) Technology sources (b) Tourism Services
(c) Technology Services (d) Teachers Services

222. The Architectural style of the Kachiguda Railway Station represents

(a) Arabic Style (b) Dravidian Style

(c) Vesara Style (d) Goethic style
223. Harithaharam programme intended to increase the forest area by

(a) 45% (b) 44% (©) 33% (d) 30%
224. Aravind Panagariya is

(a) CBI Director (b) Chief Justice of India

(c) Former Vice Chairman of NITI Ayog (d) RBI Governor

225. If the alphabet is written in the reverse order which will be the seventh letter to the right of P?

(@)l (b) I (c)H ()W
226. Mars is nick named as

(a) Green planet (b) Ringed planet

(¢) Red Planet (d) Veiled Planet

227. At National Level a Ordinance refers to
(a) Executive orders passed by the Parliament.
(b) Special Legislative powers of the President.
(c) Decision power by the Supreme Court
(d) Ruling given by the speaker of the Lok Sabha.
228. What is the full form of IP?
(a) Interface Programme (b) Interface Protocol
(c) Internet Programme (d) Internet Protocol
229. Ramappa Temple is named after
(a) Rama Pratap Rudra, the ruler
(b) Ramappa Pantulu, the priest
(c) Ramappa, the Sculptor
(d) Lord Sri Rama
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Name the leader who resigned for the first time his Minister's post during the 1969 Telangana
Movement?

(a) Marri Chenna Reddy (b) T.Anjaiah
(c) Konda laxman Bapuji (d) P.V. Narasimha Rao

The prohibition of Employment as Manual Scavengers and their Rehabilitation Act was passed in

(a) 1950 (b) 1947 (c) 2013 (d) 2000
Sex ratio in Telangana is lowest in the district of

(a) Ranga Reddy (b) Hyderabad

(c) Mahaboobnagar (d) Nalgonda

The position of the leader of the opposition in Lok Sabha usually goes to the leader of the largest
opposition party which has

(a) Atleast 1/5th members of the total members of the house

(b) Atleast 1/10th members of the total members of the house

(c) Atleast 1/15th members of the total members of the house

(d) Atleast 1/20th members of the total members of the house.
Mulkanoor Cooperative Society is in the district of

(a) Nizamabad (b) Karimnagar
(c) Medak (d) Rangareddy

A man is facing East. He turns 60° in the clockwise direction and then 105° in the anti clockwise
direction. Which direction he is facing now?

(a) North (b) North—East (c) East (d) South—East
Millions of people in India ........... the World Cup Final on TV

(a) watching (b) was watching

(c) has been watching (d) watched

Who was the founder of the Punjab Nav Jawan Bharat Sabha?
(a) Hari Singh (b) Govind Singh
(c) Bhagat Singh (d) Guru Ravidas

In which case did the Supreme Court hold that an elected representative convicted for a term
exceeding 2 years will lose his office with immediate effect

(a) Lily Thomas v/s Union of India

(b) P.V. Narasimha Rao v/s Union of India

(c) Keshvanandha Bharti v/s State of Kerala

(d) Visakha v/s State of Rajasthan

Who is the Director of the feature film 'Veera Telangana'
(a) Dasari Narayana Rao

(b) R. Narayana Moorthy

(c) B. Narsing Rao

(d) Mrinal Sen
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Directions: In the question below is given a statement followed by two assumptions numbered (I) and
(II). An assumption is something supposed or taken for granted. You have to consider the statement and
the given assumptions and decide which of the assumption(s) is/are implicit in the statement.

Statement: Surrender your old vehicle and get upto rs. 1.5 lakh as discount — Union Minister for
Transport

Assumption I: The government is concerned about pollution caused by old vehicles:
Assumption II: Government wants the car manufacturers to make huge profits
(a) Only assumption (I) is implicit

(b) Only assumption (II) is implicit

(c) neither (I) nor (II) is implicit

(d) Both (I) and (II) are implicit

The last day of Bathukamma is known as

(a) Saddula Bathukamma (b) Mahadeva Bathukamma
(c) Satya Bathukamma (d) Poorna Bathukamma
The Telangana Peasant Armed Struggle was led by

(a) Socialist Party (b) Justice Party

(c¢) Communist Party (d) Swatantra Party

Severe Acute Respirator Syndrome (SARS) is caused by

(a) Bacteria (b) Virus (c) Micoplasma (d) Fungi
India's first Remote Sensing Satellite (IRSIA) was launched from

(a) Sriharikota (b) Cape Kennedy

(c) Baikanour (d) French Guiana

The Vaikom Satyagra in Kerala was associated with

(a) Temple entry (b) Women Liberation

(c¢) Eradication of Child Labour (d) Vaishnava Movement
What was the name of the news paper edited by shoybulla khan

(a) Imroz (b) Rayyath

(c) Bhagyanagar (d) Deccan chronicle

There are 15 girls sitting in a row facing North. Kumari was shifted by three places towards her right.
Now she become 9th from the left end. What was her earlier position from the right end of the row?

(a) 10 (b) 13 (o) 11 @6
Residuary power is vested in

(a) Union executive (b) Union judiciary

(c¢) Parliament (d) State Legislature

My husband is staying .......... my aunt while he is on a business trip in UK

(a) with (b) on (c) for (d) in

The Koya population is mostly spread in the district of
(a) Nizamabad (b) Nalgonda (c) Khammam (d) Mahaboobnagar

www.eenadupratibha.net



251.

252.

253.

254.

255.

256.

257.

258.

259.

www.eenadupratibha.net

The author of the Das Capital is

(a) Adam Smith (b) Karl Marx (c) Jermy Bentham (d) J.F. Keynes
Reading of a barometer going down in an indication of

(a) snow (b) cold (c) intense heat (d) rainfall
The Indian Woman Badminton player ranked as world No.1

(a) Sindhu P.V. (b) Jwala Gutta

(c) Saina Nehwal (d) Ashwini Ponnappa

The Food Security Act, 2013 is applicable to

(a) 100% of the total population

(b) 75% of the Rural, 50% of the Urban population

(c) 50% of the rural and urban population

(d) Only tot he population below poverty-line

Who was not associated with Gentleman Agreement from Telangana

(a) Swami Ramananda Tirtha

(b) Konda Venkata Ranga Reddy

(c) Marri Chenna Reddy

(d) P.V. Narsinga Rao

........ ink in my pen is red in colour

(a) an (b) the (c)a (d) are

Under Kalyana Laxmi scheme the financial support extended by the government to the poor brides is
(a) Rs. 75,116 (b) Rs. 72,116 (c) Rs. 75,000 (d) Rs. 76,120

There has been an increase .......... the number of people buying flats

(a) under (b) in (c) of (d) to

Directions: In the question below is given a statement followed by two courses of action numbered I
and II. A course of action is a step of administrative decision to be taken for improvement, follow up
of further action in regard to the problem-policy etc. On the basis of the formation given in the
statement, you have to assume everything in the statement to be true, and then decide which of the
suggested courses of action logically follow(s) for pursuing.

Statement: A large fully loaded truck overturned on the highway and the ventricular traffic has come
to a standstill.

Course of Action I: The concerned authorities should immediately clear the traffic.

Course of Action II: Speed breakers should be placed at regular distance on highways to limit the
speed of vehicles.

(a) Only Course of Action (I) is suggested

(b) Only Course of Action (II) is suggested

(c) Neither Course of Action (I) nor Course of Action (II) is suggested.
(d) Both Course of Action (I) and Course of Action (II) are suggested.
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The Right to work is a

(a) Fundamental right

(b) Only right under NREGA

(c) Both a fundamental Right and a Right under NREGA
(d) A directive principle and a Right under NREGA

Kaloji Narayana Rao was conferred with

(a) Padma Sri (b) Padma Bhushan

(c) Padma Vibhushan (d) Kala Prapurna

Which country is the world leader in the number of solar power systems installed per capita.
(a) USA (b) Norway (c) Argentina (d) Kenya

A football and a cricket bat ............. found in the sports room

(a) was (b) is (c) am (d) were

G.O.Ms. No. 111 refers to

(a) Construction of high rise buildings around Hussain Sagar

(b) Banning Construction activity in the catchment areas of Himayatsagar & Osmansagar
(c) Banning Construction activity around Hussainsagar

(d) Banning cruelty towards wild animals

If A> D ?R < Pis true, then which of the following is not true?

(D<A (b) P>R (c) R?D (dR>A
Which of the primary sector of the Indian economy?

(a) Agriculture (b) Industry

(c) Information Technology (d) Services

Directions: In making decision about important questions, it is desirable to be able to distinguish
between 'strong' and 'weak' arguments so far as they are related to the question. 'Strong' arguments must
be both important and directly related to the question.'Weak' arguments may not be directly related to
the question and may be of minor importance or may be related to the trivial aspects of the question.

The question below is followed by two-arguments numbered (I) and (II). You have to decide which of
the arguments is strong and which is weak:

Should Government provide tabs to-all school children?

Argument I: Yes, Inaddition to effective learning, children will be relieved from carrying heavy
school bags.

Argument II: No children will misuse the tabs.

(a) Only Argument (I) is strong

(b) Only Argument (II) is strong

(c) Neither Argument (I) nor Argument (II) is strong

(d) Both Argument (I) and Argument (II) are strong.

Who was the first Chairman of the States Reorganization Commission?

(a) K.M. Panikkar (b) Fazal Ali (c) N.N. Kunzru (d) D.P. Dar
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Directions: Given below is a pair of events (I) and (II). You have to read both the events (I) and (II)
and decide their nature of relationship.

Event-I: the number of diabetic patients consuming fenugreek seeds that has gone up.

Event-II: diabetic patients who consumed fenugreek seeds experienced improved health conditions
during experiments.

(a) (I) is the effect and (II) is its immediate & principal cause

(b) () is the immediate and principal cause and (I) is its effect
(c) (I) is an effect but (II) is not immediate and principal cause
(d) (D) is an effect but (I) is not its immediate and principal cause.
Rajiv Awas Yojana (RAY) does not envisage

(a) A slum free India

(b) Inclusive and equitable cities

(c) Access to decent shelter in cities

(d) Provision of shelter in rural areas

Who was the Chief Minister of Andhra Pradesh during the 1969 Telangana Movement?

(a) Marri Chenna Reddy (b) Jalagam Vengal Rao
(c) Kasu Brahmananda Reddy (d) P.V. Narsimha Rao
Who got Arjuna Award for Kabaddi

(a) Manjeeth Chillar (b) Rajeev Kumar

(¢) Navneeth Goutham (d) Anoop Kumar

‘Jala Drushyam' in Hyderabad is a name of

(a) A Building (b) Water Park

(c) A Water Project (d) A Deer park

The Magazine, 'Down to Earth" is run by

(a) Centre for environmental concerns

(b) Centre for Science and environment

(c) Council of Scientific and Industrial Research (CSIR)

(d) Ministry of Environment and Forests

Svetlana Alexievich won-the Nobel Prize 2015 in

(a) Medicine (b) Chemistry (c) Literature (d) Peace
The term 'Sustainable development' received emphasis in

(a) Food and Agricultural Organisation

(b) World Health Organisation

(¢) United Nations Organisation

(d) World Commission on Environment and Development

Who was the author of 'Panditaradhya Charitram'

(a) Vallabhacharya (b) Rudradev (c) Palkurki Somanatha (d) Ganapatideva
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There ....... fifteen mangoes in that basket.
(a) was (b) is (c) were (d) am

Writer of famous novel 'Madhya Varthulu' is

(a) Allam Rajaiah (b) Allam Narayana

(c) Raghotham Reddy (d) Naveen

The concept of Provision of Urban Amenities in Rural Areas (PURA) was proposed by
(a) Venkaiah Naidu (b) Manmohan Singh

(c) Narendra Modi (d) Dr. A.P.J. Abdul Kalam

The cost of one breakfast and one dinner is included in the ........

(a) Prices (b) Price (c) Priced (d) Pricing
Jwala Mukhi is a

(a) Pracheena Kavi (b) Digambara Kavi

(c) Chetanavarthana Kavi (d) Bhava Kavi

The Indian Constitution is a

(a) Sovereign, Socialist, Democratic, Republic

(b) Sovereign, Socialist, Democratic, Secular Republic

(c) Sovereign Democratic, Republic

(d) Sovereign, Democratic, Secular Republic

The district with least percentage of urban population to its total population in Telangana asper 2011
Census is

(a) Nalgonda (b) Khammam

(c) Medak (d) Mahaboobnagar

My son is learning to play ......... violin at his school

(a) an (b) the (c)a (d) are
Thummidi Hatti is located in

(a) Karnataka (b) Maharashtra

(c) Telangana (d) Odisha

This factory ................. some of the best watches in the world

(a) manufacturers (b) being manufactured

(¢) manufacture (d) manufacturing

Which International Organisation has recently adopted International Yoga Day

(a) G - 20 (b) BRICS (c) SAARC (d) UNO
The film 'Mandi' is made on the theme of

(a) A story of grain market in Warangal

(b) A story of girl child in Mumbai

(c) A story of Brothel in Hyderabad

(d) A story of prostitution in Kolkata
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Who introduced the permanent settlement in India?
(a) Warren Hastings (b) Lord Wellesley
(¢) Lord Cornwallis (d) Robert Clive

A branch of Medical Science concerned with the study of outbreak of infections that affects people of
an area

(a) Epidemiology (b) Oncology (c) Paleontology (d) Pathology
Nandadevi Biosphere reserve is located in

(a) Madhya Pradesh (b) Uttarakhand (c) Chattisgarh (d) Telangana
Revolt of Kitturu Chinnamma had taken place in

(a) Tamil Nadu (b) Kerala (c) Andhra Pradesh (d) Karnataka
The price of the movie ticket ........... Rs. 75

(a) are (b) am (c) were (d) is

Which planets do not have satellites
(a) Mars and Venus (b) Mercury and Venus
(c) Mars and Mercury (d) Neptune and Pluto

Directions (296 — 300): Study the following information carefully and answer the questions that follow.

In a State, Government recruited 8000 lecturers for teaching six different subjects viz. English, Hindi,

Mathematics, Botany, Chemistry and Commerce. Fifteen percent of the total number of lecturers are
recruited for teaching Mathematics, 25 percent of the total number of lecturers are recruited for teaching
Chemistry. Lecturers recruited for teaching Botany are two third of the number equal to the number of
lecturers recruited for Mathematics, 15 percent of the remaining teachers are recruited for teaching Hindi.
Rest of the lecturers are equally distributed to teach the remaining two subjects.

296.

297.

298.

299.

300.

301.

What is the respective ratio between the number of lecturers recruited for teaching Botany and the total
number lecturers recruited for teaching of commerce and chemistry together?

(a) 80 : 37 (b) 8:37 (c) 800 : 370 (d) 800 : 3400

If 40 percent of the total number of teachers recruited for teaching English and Mathematics together
is male, then what is the total number of female teachers recruited for teaching English and
Mathematics together?

(a) 1470 (b) 2900 () 170 (d) 1740

The number of teachers recruited for teaching Mathematics is approximately what percentage of the
total number of teachers recruited for Hindi and English together?

(a) 62 (b) 52 (c) 44 (d) 54

What is the difference between the number of teachers recruited for teaching Chemistry and the
number of teachers recruited for teaching English?

(a) 1700 (b) 3400 (c) 600 (d) 300
What is the total number of lecturers recruited for teaching Hindi and English together?
(a) 2300 (b) 2100 (c) 2000 (d) 2200
Who gave the famous slogan 'Educate, Organize and Agitate'.

(a) Ambedkar (b) Karl Marx

(c) Netaji Subhaschandra Bose (d) Vallab Bhai Patel
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Which one of the following is NOT a feature of 73'd Constitutional Amendment
(a) Reservations to SC & ST in local bodies

(b) Reservations to SC & ST in local bodies

(c) Compulsory Elections for Local Bodies within 5 years

(d) Reservation for OBC, in Local Bodies

The Mandal Commission was appointed during the Prime Ministership of

(a) Indira Gandhi (b) Morarji Desai

(c) V.P. Singh (d) P.V. Narasimha Rao
Dinesh Goswamy Committee was appointed to deal with

(a) Education Reforms (b) Economic Reforms
(c) Electoral Reforms (d) Legal Reforms

Right to Information contributes

(a) Transparent Governance (b) Stable Governance
(c) Closed Governance (d) Dictatorial Governance
The National Food Security Act, 2013 does not include

(a) Mid-day meals Scheme

(b) Integrated Child Development Services

(c) Public Distribution System

(d) Supply of food for all

The Consumer Protection Act envisages its machinery at

(a) The National Level

(b) The National, State and District Levels

(c) The National and State Levels

(d) The State and District Levels

The Indian Federalism is drawn from

(a) United States of America (b) Britain

(c) Canada (d) Germany

The disputes between Government of India and one or more states can be heard by Supreme Court
under its

(a) Original Juridiction

(b) Advisory Juridiction

(c) Appelate Juridiction

(d) Nominal Juridiction

Inclusive Growth Strategy was adopted first time in

(a) 10th Five Year Plan (b) 11t Five Year Plan
(c) 12th Five Year Plan (d) 6th Five Year Plan
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The Bayyaram Tank was built by

(a) Rudra Deva (b) Rudrama Devi
(c) Mailamba (d) Ganapati Deva
Which Qutub Shahi King was called as "Malkibarama"

(a) Jamsheed Qutub Shah

(b) Ibrahim Qutub Shah

(c) Abdulla Qutub Shah

(d) Mohammad Qutub Shah

Who supported Turrebaz Khan during the 1857 revolt?

(a) Maskan Ali (b) Dilwar Khan

(c) Moulvi Ala-ud-din (d) Abbaz Khan

Who was conferred with D.C.L. an Honorary Degree by Oxford University
(a) Sarojini Naidu (b) Ali Yavar Jung

(c) Salar Jung 1 (d) Salar Jung 1, IT

Whom did Salar Jung I appoint as the Revenue Minister?
(a) Mukharam-ud-daula Bahadur

(b) Shamshir Jung Bahadur

(c) Shahab Jung Bahadur

(d) Bassalt Jung Bahadur

Which one of the following was not built during the reign of the last Nizam?

(a) Wyra Project (b) Palair Project

(c) Nizam Sagar (d) Hussain Sagar

Who wrote "Our Struggle for Emancipation"

(a) V. Shyam Sundar (b) B.S. Venkat Rao

(c) PR. Venkataswamy (d)'Bhagya Reddy Varma

Who were the Editors of the Rabhbar e—Deccan News paper published in Hyderabad
(a) Ahmed Mohiuddin and Abdulla Khan

(b) Bahadur Yar Jung and Kasim Razvi

(c) Nizamat Jung and Bahadur Yar Jung

(d) Akbar Hydari and Ahmed Arif

Who was the British Resident at the time of 1857 Revolt in Hyderabad?

(a) Davidson (b) Kirk Patrick

(c) Henry Russel (d) Charles Metcalf

Who among the following Hyderabadi Joined the Azad Hindu Fauz?

(a) Abids Hasan Safrani (b) Shaik Mohiuddin

(c) Ramakrishna Dhoot (d) Ravi Narayana Reddy
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Who was the Governor General of India during the Fourth Anglo—Mysore War?
(a) Warren Hastings (b) Lord Wellesley
(¢) Lord Dalhousie (d) Lord Minto
Which of the following books was written by Raja Ram Mohan Roy?
(a) Gift to Monotheist

(b) Whither India

(c) the Destiny of Human Life

(d) Neel Darpan

Who was the leader of the Young Bengal Movement

(a) Keshab Chandra Sen

(b) Iswar Chandra Vidya Sagar

(c) Derozio

(d) Debendranath Tagore

Who founded the Satya Shodhak Sama;j?

(a) B.R. Ambedkar (b) Jotiba Phule

(c) G.H. Deshmukh (d) M.G. Ranade

In which year the'Arya Samaj was founded?

(a) 1875 (b) 1861 (c) 1774 (d) 1880
Who led the Bardoli Satyagraha

(a) Vallab Bhai Patel (b) Rajendra Prasad

(c) Motilal Nehru (d) Jayaprakash Narayan
Who among the following was not a member of the Congress Socialist Party
(a) Jaya Prakash Narayan (b) Acharya Narendra Dev
(c) Achyut Patwardan (d) Motilal Nehru

Which book of Tolstoy influenced Mahatma Gandhi

(a) The Nation

(b) The Kingdom of God is with in you

(c) War and Peace

(d) Honesty

Who among the following was not associated with the assassination of Saunders at Lahore
(a) Chandrasekhar Azad (b) Bhagat Singh

(c¢) Uddam Singh (d) Raj guru

‘Dyachy' was the most important feature of

(a) 1892 Act (b) 1909 Act (c) 1919 Act (d) 1935 Act
In Telangana State, red soils are predominant with a percentage of area about

(a) 48% (b) 55% (c) 59% (d) 62%
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The Headquarter of Northern Telangana Agro Climatic Zone is located at

(a) Karimnagar (b) Manchiryal (c) Warangal (d) Jagitial
The percentage of rainfall Telangana State receives through South-West monsoon

(a) 70% (b) 80% (c) 90% (d) 95%
Kawal wild life sanctuary is located at

(a) Pocharam (b) Jannaram (c) Eturunagaram (d) Pakhala
In Telangana, the mineral which contributed highest value, after coal, in the year 201314
(a) Iron ore (b) Manganese (c) Lime stone (d) Granite
Major source of power in Telangana at present is

(a) Thermal (b) Hydel (c) Nuclear (d) Bio-fuel
Aero space industry in Hyderabad is located at

(a) Turkapally (b) Tukkuguda (c) Adibatla (d) Pollepalli
The district of Telangana with the highest percentage of ST population

(a) Warangal (b) Khammam (c) Adilabad (d) Mahaboobnagar
Number of districts that Hyderabad Metropolitan Development Area (HMDA) spreads over
(a) Three (b) Five (c) four (d) Six
Mission Kakatiya does not aim at

(a) Desilting Tank Beds

(b) Strengthening Tank bunds

(c) Repairing the feeder channels

(d) Linking of Tanks

A line Joining places with equal amount of rainfall is

(a) Isohel (b) Isohyet (c) Isoneph (d) Isonif
Which of the following earth quake waves are most destructive

(a) Surface Waves (b) P—Waves (c)R—Waves (d) L-Waves

Which one of the following mountain chains has two dissimilar types of vegetation on its two slopes/
sides

(a) Aravalis (b) Eastern Ghats

(c) Vindhyas (d) Western Ghats

Terra Rossa is a type of

(a) Mountain (b) Ocean Trench (c) Fish (d) Soil
Indigenously built Atomic Power Station in India

(a) Narora (b) Rawat Bhata

(c) Tarapora (d) Kalpakkam

The greatest potential for the generation of Tidal Power in India is available at

(a) Konkan Coast (b) Coromandal Coast

(c) Malabar Coast (d) Gujarat Coast
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347. Which of the following characteristics of a population is not evident from a population pyramid?
(a) Age structure (b) Sex structure
(¢) Race structure (d) Dependency structure

348. The percentage of population on earth lives south of the equator?

(a) 10% (b) 20% (c) 25% (d) 40%
349. T-Hub in Hyderabad is located at

(a) IIT Hyderabad (b) IIIT Hyderabad

(c) HCUJ (d) Raheja Mind Space
350. India's decadal population growth rate has been continuously declined since

(a) 1971 - 1981 (b) 1981 ~ 1991

(c) 1991 - 2001 (d)2001 - 2011

351. The sound waves with frequency below 16 Hz are called

(a) Infrasonic (b) Ultrasonic (c) Esonic (d) Extrasonic
352. Which of the following is not a parasitic disease

(a) Filariasis (b) Malaria (c) Tuberculosis (d) Leishmaniasis

353. The test that identifies sugar levels in human blood is

(a) HIN1 (b) Hb2C (c) H5N1 (d) HbAIC
354. Excess nitrates in drinking water causes

(a) Fluorosis (b) Anaemia

(c) Matheemoglobinemia (d) Reproductive product

355. Relative loudness of sound is measured in

(a) Magables (b) Decibles (c) Pebbles (d) Coenoble
356. The pH value of an acid is
(a) Below 7 (b) Above 7 (c) Equal to 7 (d) Equal to O

357. S AR S (Severe Acute Respiratory Syndrome) caused by
(a) Virus (b) Leishmania (c) Bacteria (d) Tripanosoma

358. During the process of inspiration of lungs, which of the following is pumped into blood

(a) Nitrogen (b) Carbondioxide (c) Oxygen (d) Carbon monoxide
359. The scientific study of earthquakes is known as

(a) Seismology (b) Cosmology (c) Ecology (d) Pathology
360. Right part of the Human Heart contains

(a) Deoxygenated blood (b) Dehydrogenated blood

(c) Oxygenated blood (d) Hydrogenated blood

361. First order consumers are
(a) Omnivores (b) Decomposers (c) Herbivores (d) Carnivores
362. Plasma phase is one state of matter that exists at a temperature of the order of

(a) 10k (b) 100k (c) 1,000k (d) 10,000k
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As per WHO, the most wide spread nutritional deficiency, world wide is
(a) Iron (b) Calcium (c) Potassium (d) Sodium

The triple point of water is around

(a) 100°C (b) 100°C (c) 273°C (d) 273°C
Which gas is responsible for the characteristic smell of the sea

(a) Acetylene (b) Ammonia

(c) Dimethyl sulfide (d) Tetrasulfuric Dichloride

Which of the following writs is issued by the higher judiciary in case of illegal detention of a person?
(a) Quo Warranto (b) Habeas Corpus

(c) Mandamus (d) Certiorari

Separation of Judiciary from Executive is enjoined by

(a) VII schedule to the Constitution

(b) Judicial Decisions

(c) Directive Principle of State Policy

(d) Preamble to the Constitution

The day on which the Constituent Assembly adopted the Constitution of India
(a) 25 October, 1948

(b) 25 October, 1949

(c) 26 November, 1948

(d) 26 November, 1949

Which of the following Constitutional provisions directs the State to prevent concentration of wealth
and means of production in a few to the common detriment?

(a) Article 39(c) (b) Article 39(b)
(c) Article 39(d) (d) Article 39(e)
The newly inserted Article 43—B in the Constitution deals with

(a) Participation of workers in the management of industries

(b) Promotion of cooperative societies

(c) Uniform civil order for all citizens

(d) Provision for early childhood care and education

Which provision of the Constitution empowers the President to appoint the National Commission for
Backward Classes?

(a) Article 342 (b) Article 344 (c) Article 340 (d) Article 339
Which of the following is not an eligibility condition to be a judge of the Supreme Court of India?
(a) Judge of one or more High Courts for at least five years

(b) An advocate of Supreme Court for atleast ten years

(c) A distinguished jurist in the opinion of the President

(d) Above 45 years of age
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373. Which of the following is not a standing committee of Parliament?
(a) Public Accounts Committee
(b) Ethics Committee
(¢) Select and Joint Committees on Bills
(d) Business Advisory Committee
374. What is the Nobel Prize in Economic Sciences is called
(a) Magasaysay Award
(b) Swedish Bank Prize
(c) John Von Neumann Award
(d) The Sveriges Riksbank Prize
375. The popular 'Fair' celebrated by Gonds in Adilabad district
(a) Sammakka Sarakka (b) Nagoba
(c) Teez (d) Komarelli

376. The inclusion of which cast in North India in the list of backward classes was struck down by the
Supreme Court recently?

(a) Patels (b) Meenas (c) Jats (d) Gujjars
377. The word "Thari' in Telangana denotes

(a) Land having water source

(b) Land without water source

(c) Forest land

(d) Grazing land

378. The 'Jammi' leaves given to each other on the eve of Dasara festival-in Telangana are called

(a) Prasadam (b) Bonam (c) Nyevedya (d) Bangaram
379. Who led the "'TNGO's strike during 1969 Telangana Movement

(a) Sridhar Reddy (b) Madan Mohan

(c) Amos (d) Keshava Rao

380. Who was the play back singer to the'song '"Palleturi Pillagada..." in the film "Maa Bhumi"?

(a) P. Leela (b) S. Janaki
(c) Sandhya (d) P. Susheela
381. The Six—Point Formula was incorporated in the Constitution of India under Article
(a) 371-A (b) 371-B (c)371-C (d) 371-D
382. Thedegree college in which Dr. Jaya Shankar served as the Principal
(a) Kakatiya College (b) Mahboob College
(c) Nizam College (d) C.K.M. College
383. Which of the following food item was registered as a Geographical Indication (GI) recently?
(a) Hyderabad Biryani (b) Rasagulla
(c) Hyderadad Haleem (d) Double ka Meeta
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Who among the following will be treated as 'Backward Classes' as per 2014 Judgement of the Supreme
Court?

(a) Refugees (b) Disabled persons

(c) Transgenders (d) Displaced persons

Which University conferred the 'D. Lit Honoris Causa' on Dr. BR Ambedkar in 1953
(a) Osmania University (b) Columbia University

(c) Marathwada University (d) University of London

How many riparian states are there in Godavari Basin?

(a) Five (b) Seven (d) Three (d) Six
TMC is an acronym of

(a) Thousand Million Cubic Meters

(b) Ten Million Cubic Feet

(c) Thousand Million Cubic Feet

(d) Ten Million Cubic Meters

"Pranahita" river consists of which of the following rivers?

(a) Pen Ganga, Wardha and Waine Ganga

(b) Poorna, Pen Ganga and Wardha

(c) Pravara, Waine Ganga and Manair

(d) Kolab, Wardha and Pen Ganga

In Which district is the proposed Ichampalli project located?

(a) Karimnagar (b) Adilabad (c) Medak (d) Nizamabad
Who was the Chairman of the Godavari Water Dispute Tribunal?

(a) Brijesh Kumar (b) R.S. Bachawat

(c) M.P. Singh (d) R.S. Sarkaria

Who among the following officers contributed immensely for abolition of Vetti/ Begar in Telangana
region?

(a) .M. Girglani (b) V. Sundareshan

(c) S.R. Shankaran (d) PVRK Prasad

The famous centre of Pilgrimage in Medak district is

(a) Idupula Paya (b) Edu Payala (c) Moodu Payala (d) Aru Payala
Devadula project is situated in the district if

(a) Warangal (b) Khammam (c) Medak (d) Adilabad
'Gun Park' denotes

(a) Police Head Quarters in Telangana

(b) Memorial of Telangana Martyrs

(c) Head Quarters of Golconda Army

(d) Park Housing Memorial of Police Martyrs
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'Kondagattu' is famous for

(a) Temple of Sri Anjaneya Swamy

(b) Temple of Sri Narsimha Swamy

(c) Temple of Venkateshwara Swamy

(d) Temple of Ayyappa Swamy

The first day of 'Bathukamma' celebrations is called

(a) Toli poddu (b) Saddulu

(c) Engili poolu (d) Samburalu

Telangana Government announced Kaloji Narayan Rao's Birthday as

(a) Telangana Official Language Day

(b) Telangana Language Day

(c) Telangana Heritage Day

(d) Telangana Cultural Day

Which one of the following has patnered with India to develop Brahmos missile

(a) Uk (b) Israel (c) USA (d) Russia
Which one of the following National Laboratory is located in Hyderabad?

(a) Research Centre Imarat (RCT)

(b) National Aerospace Laboratory (NAL)

(c) Defence Research & Development Establishment (DRDE)

(d) Centre for Air Borne Systems (CABS)

Which one of the following is a Submarine — Launched Ballastic Missile. (SLBM)

(a) Agni—4 (b) Pridhvi (c) K4 (d) Akash
The main objective of Jalaharam, a new Policy of the Government of Telangana State is
(a) To secure water for the industries

(b) To save rain water

(c) To supply drinking water

(d) To supply water for irrigation

Which Union Budget proposed to set up India's First Women's Bank under Public sector
(a) 2012 — 2013 Budget (b) 2013 — 2014 Budget

(c) 2014 — 2015 Budget (d) 2010 — 2011 Budget

As per 2011 Census, Female Literacy rate in Telangana State is

(a) 80 —89% (b) 73% (c) 57.99% (d) 60%
Value of all goods and services produced within a year is called

(a) Gross Domestic Product (GDP)

(b) Gross National Product (GNP)

(c) Net National Product (NNP)

(d) Human Development Index (HDI)
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National Income at Factor Cost means

(a) National Income at Market Prices — Indirect Taxes + Subsidies

(b) National Income at Market Prices + Indirect Taxes + Subsidies

(c) National Income at Market Prices — Indirect Taxes + Subsidies

(d) National Income at Market Prices — Indirect Taxes — Subsidies

Lalith Bhargava Committee was reviewed on

(a) Revenue & Expenditure (b) Irrigation

(c) Land returns (d) Industrial Development

The Sree Nidhi Credit Co-operative Federation Ltd. has come forward for promotion of

(a) Dairy Activities (b) Egg Production

(c) Fish Production (d) Vegetables

Gross State Domestic Product of Telangana State during the year 2014—15 in current prices is about
(a) Rs. 2 lakh crores (b) Rs. 3 lakh crores

(¢) Rs. 4 lakh crores (d) Rs. 5 lakh crores

Honey processing unit for agency tribals established by Girijan Cooperative Corporation Limited at
(a) Kamareddy (b) Nirmal

(c) Eturunagaram (d) Kondangula

Urban population in Telangana as per 2011 Census

(a) 25.5% (b) 38.88% (c) 40% (d) 45.5%

The veteran cricketer from Hyderabad is known as cultivated stylist

(a) V.V.S. Laxman (b) Azharuddin

(c) Jaisimha (d) Arshad Ayoob

The player from Warangal who revolutionized Indian Ball badminton is

(a) K. Rajaiah (b) 1. Pitchaiah (c) R. Mallaiah (d) T. Lakshmaiah

Who is playing the lead role in Ektha Kapoor's-biopic on Hyderabad cricketer Mohammad Azharuddin
(a) Sharuk Khan (b) Abhisek Bachan

(c¢) Emraan Hashmi (d) Saif Ali Khan

Which of the most affected tribal community due to the proposed Polavaram project?

(a) Gonds (b) Chenchus (c) Gotti Koyas (d) Lambadas
Which town in‘Telangana was originally known as Indur?

(a) Nizamabad (b) Mahabubnagar (c) Karimnagar (d) Medak

Dr. M.M. Kalburgi, the writer who was killed recently was to the former Vice-Chancellor of which
University

(a) Karnataka University (b) Mysore University
(c) Humpi University (d) Gulbarga University
Alexis Tsipras is the Prime Minister of

(a) Britain (b) Australia (c) Greece (d) Germany
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The following is Not true about Prime Ministers foreign visits in the month of July 2015

(a) Visit to Uzbekistan (b) Visit to Combodia
(c) Visit to Tajikistan (d) Visit to Kyrgyzstan
The first International Day of Yoga was celebrated on

(a) 215t May 2015 (b) 25th June 2015

(c) 215t June 2015 (d) 25th May 2015

Which Academy announces Nobel Prizes
(a) Royal Society of Canda

(b) Royal Swedish Academy of Sciences
(c) Royal Norwegian Academy of Sciences

(d) Royal Society of New South Wales

My Mother is ......... English teacher at a University

(a) an (b) the (c)a (d) are

Every day before sleeping, I turn off ......... lights in my room

(a) an (b) the (c)a (d) are
Moving to a foreign country is not .... easy thing to do. You have to complete many formalities before that
(a) an (b) the (c)a (d) are
Though the .......... is relevant, we need to consider all possible aspects

(a) information (b) inform

(¢) Informations (d) informing

Nowadays, a large number of .......... are getting stressed out easily.

(a) person (b) peoples (c) people (d) personing
We do not have a .......... of time, so let's discuss this quickly

(a) lot (b) much (c) enough (d) few

You must .......... Golconda. It is an interesting historical monument.

(a) visit (b) be visiting (c) is visiting (d) visited
Raghav is not .......... the meeting today because he has a medical emergency at home

(a) attend (b) attended

(c) is attending (d) attending

You must visit the handicrafts shop at the end of this road. It ....... an excellent variety of gift items.
(a) had (b) has (c) was (d) have

| P think the team will win the game tonight.

(a) don't (b) doesn't (c) are (d) am
Gymnastics ...... a very difficult sport

(a) am (b) is (c) were (d) are
Eighty days ....... not enough to complete this project

(a) are (b) is (c) were (d) am
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We must talk ....... what we can do as a community to reduce pollution in our locality.
(a) at (b) about (c) in (d) for
To do this job, you don't have to be particularly skilled ....... anything

(a) for (b) in (c) at (d) an
Most of the companies prefer to remain in touch with their clients ....... email

(a) by (b) in (c) to (d) for

Directions: In this question given below, there is a statement followed by two assumptions numbered
(I) and (II). An assumption is something supposed or taken for granted. You have to consider the
statement and the given assumptions and decide which of ‘the assumption (s) is/are implitic in the
statement.

Statement: The outer ring road has witnessed many accidents ever since it is opened for public — City
Police Commissioner in a press meet

(a) if only assumption (I) is implicit
(b) if only assumption (II) is implicit
(c) if neither (I) nor (II) is implicit
(d) if both (I) and (II) are implicit

Directions: In the question given below there is a statement followed by two conclusions numbered (I)
and (II). You have to assume everything in the statement to be true, and then decide which of the two
given conclusions logically follow(s) beyond reasonable doubt, from the information given in the
statement.

Statement: India faces worst dengue fever outbreak in years with more than 6,500 confirmed cases a
news report.

Conclusion I: The health minister is inefficient.
Conclusion II: Dengue fever is spread by Aedes mosquito
(a) if only conclusion (I) follows

(b) if only conclusion (ii) follows

(c) if neither (I) nor (II) follows

(d) if both (I) and (II) follows

Directions: In the question given below there is a statement followed by two courses of actions
numbered I and II. A course of action is a step or administrative decision to be taken for improvement,
follow—up or further action in regard to the problem, policy etc. On the basis of the information given
in the statement, you have to assume everything in the statement, to be true, and then decide which of
the suggested course(s) of action logically follow(s) for pursuing.

Statement: Nearly 700 people died in a stampede in city 'X' in future.
Course of Action I: People should not visit city 'X' in future.

Course of Action II: The local administration should plan meticulously the assembling and movement
of people in the coming years.

(a) If only Course of Action (I) is suggested

(b) If only Course of Action (I) is suggested

(c) If neither Course of Action (I) nor Course of Action (II) is suggested.
(d) If both Course of Action (I) and Course of Action (I) are suggested.
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Directions: In making decisions about important issues, it is desirable to be able to distinguish between
'strong' and 'weak' arguments so far as they are related to the issue. 'Strong' arguments must be both
important and directly related to the issue. 'Weak' arguments may not be directly related to the question
and may be of minor importance or may be related to the trivial aspects of the issue.

The statement given below is followed by two arguments numbers (I) and (II). You have-to decide
which of the arguments is strong and which is weak. Then decide which of the answers (1), (2), (3) or
(4) is the correct answer.

Statement: Should the Prime Minister stop visiting other countries?
Argument I: Why should he stop visiting other countries?
Argument II: By frequent visits, lot of public money is wasted.

(a) If only argument (I) is strong

(b) If only argument (II) is strong

(c) If neither (I) nor (II) is strong

(d) If both (I) and (II) are strong

Directions: In the question given below there is a pair of events (I) and (I). You have to read both the
events (I) and (II), and then decide the nature of relationship (cause and effect) that exists between them

Event I: The number of chain — snatching cases has increased in the recent past.
Event II: Nowadays.more people have started wearing chains.

(a) if (I) is the effect and (II) is its immediate and principal cause

(b) if (I) is the immediate and principal cause and (II) is its effect

(c) if (I) is the effect but (II) is not its immediate and principal cause

(d) if (II) is an effect but (I) is not its immediate and principal cause

In a row of forty five boys facing north, M is thirteenth from the left end and S'is seventeenth from the
right end. How many boys are present between S and M in the row?

(a) 15 (b) 16 (c) 17 (d) 18

If 'A x B' means 'B is wife of A'; 'A + B' means 'A is the brother of B'; 'A + B' means A is daughter of
B' and 'A — B' means 'A is son of B', then how isR related to Sin'R xS — T+ B + Q'?

(a) Wife (b) Husband (c) Brother (d) Sister

A, B, C, D and E are standing on'a straight line, A, B and C are not at the extremes. C is the middle of
A and B. No one stands towards right of E. B is standing at third right of D. Who is standing next to
E?

(a) C (b) D (A (d)B

In a code language, if WARANGAL is coded as XBSBMFZK, then how ADILABAD should be coded
in that language?

(a) BEIMBCBE (b) BEMJBCBE
(c) BEIMZAZC (d) BEJMZBZD
What should come in the place of '?" in the following series? 1, 4, 27, 4, 25, 216, 77
(a) 49 (b) 343 (c) 512 (d) 64
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446 - 450 Questions Instructions: The following table shows the population of six different towns, ratio of
males to females among them, percentage of adult males and minor females.

(Population given in lakhs)
Town Population Males : Females % Adult Males % Minor Females
P 1.5 1:1 60% 35%
Q 1.0 3:2 50% 30%
R 2.5 12:13 75% 50%
S 0.9 4:5 55% 40%
T 4.5 7:8 70% 25%

446. What is the minor male population of town P?

(a) 45,000 (b) 30,000 (c) 26,250 (d) 48,750
447. What is the adult female population of town Q?

(a) 12,000 (b) 30,000 (c) 40,000 (d) 28,000
448. How many minors are present in Towns R and S together?

(a) 1,33,000 (b) 30,000 (c) 42,000 (d) 65,000
449. What is the difference between male population of towns T and P?

(a) 1,25,000 (b) 1,47,000 (c) 2,10,000 (d) 1,35,000
450. - The male population of town R is what percent more than female population of town Q?

(a) 100% (b) 140% (c) 180% (d) 200%
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ANSWERS

1-b; 2-d; 3-a; 4-c; 5-a; 6-a; 7-a; 8-c; 9-c; 10-d; 11-a; 12-d; 13-c; 14-b; 15-d; 16-b; 17-a; 18-b; 19-b; 20-b;
21-b; 22-a; 23-d; 24-b; 25-d; 26-b; 27-a; 28-b; 29-b; 30-d; 31-b; 32-a; 33-b; 34-d; 35-b; 36-b; 37-c; 38-b;
39-a; 40-d; 41-c; 42-b; 43-c; 44-c; 45-c; 46-a; 47-d; 48-d; 49-c; 50-a; 51-c; 52-b; 53-b; 54-d; 55-¢; 56-d;
57-a; 58-d; 59-d; 60-a; 61-a; 62-d; 63-d; 64-d; 65-c; 66-c; 67-a; 68-c; 69-a; 70-d; 71-c; 72-c; 73-a; T74-c;
75-a; 76-c; 77-c; 78-b; 79-d; 80-d; 81-a; 82-c; 83-a; 84-b; 85-a; 86-c; 87-d; 88-a; 89-b;90-¢; 91-c; 92-a;
93-a; 94-a; 95-b; 96-a; 97-a; 98-a; 99-b; 100-a; 101-c; 102-b; 103-c; 104-b; 105-a; 106-c; 107-b; 108-a;
109-c; 110-b; 111-a; 112-d; 113-b; 114-c; 115-a; 116-c; 117-c; 118-b; 119-a; 120-a; 121-d; 122-d; 123-b;
124-b; 125-d; 126-a; 127-d; 128-c; 129-a; 130-b; 131-c; 132-a; 133-c; 134-b; 135-b; 136-c; 137-a; 138-d;
139-b; 140-a; 141-a; 142-b; 143-d; 144-d; 145-d; 146-d; 147-b; 148-d; 149-d; 150-c; 151-a; 152-c; 153-d;
154-a; 155-d; 156-a; 157-b; 158-a; 159-a; 160-b; 161-b; 162-b; 163-b; 164-b; 165-b; 166-d; 167-c; 168-b;
169-a; 170-a; 171-a; 172-d; 173-a; 174-a; 175-c; 176-a; 177-b; 178-a; 179-a; 180-d; 181-a; 182-c; 183-a;
184-b; 185-a; 186-a; 187-b; 188-c; 189-a; 190-d; 191-d; 192-d; 193-c; 194-b; 195-b; 196-b; 197-b; 198-a;
199-b; 200-c; 201-c; 202-b; 203-b; 204-a; 205-a; 206-c; 207-a; 208-b; 209-c; 210-d; 211-d; 212-a; 213-a;
214-c; 215-a; 216-d; 217-d; 218-d; 219-a; 220-a; 221-¢;222-d; 223-c; 224-c; 225-b; 226-c; 227-b; 228-d;
229-c; 230-c; 231-c; 232-b; 233-b; 234-b; 235-b; 236-d; 237-c; 238-a; 239-b; 240-a; 241-a; 242-c; 243-b;
244-c; 245-a; 246-a; 247-a; 248-c; 249-a; 250-¢; 251-b; 252-d; 253-c; 254-b; 255-a; 256-b; 257-a; 258-b;
259-d; 260-d; 261-c; 262-d; 263-d; 264-b; 265-d; 266-a; 267-a; 268-b; 269-a; 270-d; 271-c; 272-a; 273-a;
274-b; 275-c; 276-d; 277-c; 278-c; 279-a; 280-d; 281-b; 282-b; 283-b; 284-d; 285-b; 286-c; 287-a; 288-d;
289-c; 290-c; 291-a; 292-b; 293-d; 294-d; 295-b; 296-b; 297-d; 298-b; 299-d; 300-a; 301-a; 302-d; 303-b;
304-c; 305-a; 306-d; 307-b; 308-c; 309-a; 310-b; 311-c; 312-b; 313-c; 314-c; 315-a; 316-d; 317-c; 318-a;
319-a; 320-a; 321-b; 322-a; 323-c; 324-b; 325-a; 326-a; 327-d; 328-b; 329-c; 330-c; 331-a; 332-d; 333-b;
334-c; 335-d; 336-a; 337-c; 338-b; 339-b; 340-d; 341-b; 342-a; 343-d; 344-d; 345-d; 346-d; 347-c; 348-a;
349-b; 350-a; 351-a; 352-c; 353-d; 354-c; 355-b; 356-a; 357-a; 358-c; 359-a; 360-a; 361-c; 362-d; 363-a;
364-c; 365-c; 366-b; 367-c; 368-d; 369-a; 370-b; 371-c; 372-d; 373-c; 374-d; 375-b; 376-¢; 377-a; 378-d;
379-c; 380-c; 381-d; 382-d; 383-c; 384-c; 385-a; 386-b; 387-c; 388-a; 389-a; 390-b; 391-¢; 392-b; 393-a;
394-b; 395-a; 396-c; 397-b; 398-d; 399-a; 400-c; 401-c; 402-b; 403-c; 404-a; 405-a; 406-a; 407-a; 408-c;
409-a; 410-b; 411-c; 412-b; 413-c; 414-c; 415-a; 416-c; 417-c; 418-b; 419-c; 420-b; 421-a; 422-b; 423-a;
424-a; 425-c; 426-a; 427-a; 428-d; 429-b; 430-a; 431-b; 432-a; 433-b; 434-¢; 435-a; 436-b; 437-c; 438-b;
439-c; 440-c; 441-a; 442-b; 443-d; 444-c; 445-d; 446-d; 447-d; 448-a; 449-d; 450-d.
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